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47/C/1 H 2 H 
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47/C/1 H 3 H P.T.O. 

A 
201 20 20 1=20

.1 ma  mc 

(mc/ma) 

816
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1

8
1
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(i) K2Cr2O7 

(ii) KMnO4  

(iii) 

(iv)

(Oxidising agents):  

(a)(i)(ii) 

(b)(ii)(iii) 

(c)(ii) , (i)(iii)  

(d)(ii) , (i)(iv)  
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(a)

(b)

(c)
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47/C/1 H 4 H 

.42 g

(a)

(b)

(c)

(d)

.5

(Lead) 

.6

(i) 

(ii)  

(iii) 

(iv)

 (a) (i)(ii) 

(b) (ii)(iii) 

(c)(iii)(iv)  

(d)(i) (iv)  



 

47/C/1 H 5 H P.T.O. 

.7

(a)

(b)

(c)

(d)

.8

(Pyruvate)

.9

(a)

(b)

(c)

(d)
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47/C/1 H 6 H 

.11(TT)(tt)F1 

F1 F2  

TT : Tt : ttTT : tt

Tt : ttTT : Tt

.122F

.13

(a)(Diffusion of light)                 

(b) (Total reflection of light) 

(c)(Scattering of light)

(d)(Dispersion of light)             



 

47/C/1 H 7 H P.T.O. 

.14(Elements)

(a)

(b)

(c)

(d)

.15

(a)

(b)

(c)

(d)

.16(i)(ii)

(a) (i)(ii) 

(b) (i)(ii) 

(c)(i)(ii)   

(d)(i) (ii)     



 

47/C/1 H 8 H 

17 20 (A)

(R)(c) , (b) ,(a)(d) 

(a)(A)(R)(R)(A)

(b)(A)(R)(R)(A)

(c)(A)(R)

(d)(A)(R) 

.17(A)  Na2SO4 + BaCl2  BaSO4 + 2NaCl 

 

(R) 

        

.18(A)  

(R) 

.19(A)  DNA  

(R) 

.20(A)  

(R) 



 

47/C/1 H 9 H P.T.O. 

B 

.21(a)

C

D

   2

(b)

(i)(1)(2)  

(ii)

2  

.22(Sperm)2

.23

2

.24(a)

  u =  20 cm, f =  15 cm 2

(b)
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47/C/1 H 10 H 

.253 kW 220 V220 V)

10 A2

.26(a)

(b)

2

C 
.27

3

.28(a)  

443 K  

(i)

(ii)

3

(b)(i)

(ii)             

33

.29(a)(Alveoli)

(b)3



 

47/C/1 H 11 H P.T.O. 

.30(Stomata)

3

.31

3

.32(a)(i)(Solenoid)(Circular Coil)

(ii)

(iii)

3

(b)

3

.33

3



 

47/C/1 H 12 H 

D

.34(a)(i)

(1)       

(2)        

(3)        

(4)        

(ii)

(1)       CH3COOH
(2)       Ca(OH)2 
(3)       HCl
(4)       NaOH

(iii)

(iv)

(v)(1)(2)5

(b)(i)

(ii)

(iii)

5



 

47/C/1 H 13 H P.T.O. 

.35(a)(i)

(1)       

(2)        
(3)       (Implantation of the zygote)  

(ii)

(1)       

(2)       3+2=5

(b)(i)

(1)       
(2)        

(ii)C, B , AD

(iii)

5
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B 

C 
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47/C/1 H 14 H 

.36(a)

 SI 

(b)1·0 A  220 V8 W, LED 

5

E

.371600

(alloying)

(a)

1

(b)1



 

47/C/1 H 15 H P.T.O. 

(c)

2

(c)

2

.38

(Neurons)(Thinking)

(a)(Shock) 1



 

47/C/1 H 16 H 

(b)(Reflex arc)(i) (ii) 

1

(c)(i) (ii) 

2

(c)

2

.39

B

B

(a)1



 

47/C/1 H 17 H P.T.O. 

(b)
3
4

2
3

(i)

(ii)

1

(c)
3
4

2
3

2  108 m/s  

 (i) (ii)    2

(c)
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